ANSWERS 13

1. What is meant by balance of trade?

Difference as between visible exports and visible imports. If the difference is positive there is a surplus on balance of trade. 

2. Why has Ireland such a large balance of trade surplus?

Due mainly to activities of foreign multinationals in Ireland in sectors such as chemicals and IT who use artificial pricing (transfer pricing) as a means of boosting profit levels

3. Distinguish balance of payments (on current account) from balance of trade (and terms of trade). Explain clearly why Ireland has a substantial balance of trade surplus yet also a growing balance of payments deficit.
Balance of Payments includes invisible as well as visible exports and imports. Balance of trade only includes visible items. Terms of trade relate to the price a country gets for its exports as opposed to price paid for imports.
The vast bulk of manufacturing exports now come from multinational companies operating in Ireland. To maximize their net profits (taking advantage of Ireland’s low corporation profits tax rate), they use transfer pricing on imported materials (from subsidiaries) to artificially lower costs here thereby boosting profits. This then translates into a Balance of Trade surplus. However other activities of these companies e.g. the repatriation of profits together with substantial license payments and royalties fees leads to a massive outflow of invisible payments leading to the poorer Balance of Payments figures.

In recent years a loss in competitiveness and the strong Euro has tended to damage exports (and boost imports) leading to a deterioration in overall figures    
4. Outline - with reference to Ireland - the main invisible items in trade.

Invisible items include factor flows (such as profit repatriation), services trade e.g. software and tourism and transfers to and from EU.

5. What is meant by the basic balance?

The overall trade picture (which includes capital as well as current items

6. Why in the context of the Eurozone has control of Balance of Payments become less important for Ireland?

In the past Balance of Payments difficulties often led to currency movements necessitating corrective economic action. Because Ireland is now part of the Eurozone, any corrective action is based on overall assessment of this larger Eurozone area.
7. What is meant by an exchange rate?

The value of one currency in relation to another 

8. What causes the value of an exchange rate to change?

Ultimately this relates to supply and demand factors for the currency though sometimes authorities may try to artificially fix the value at a certain rate (in relation to one or more other currencies)

9. Explain why the dollar is presently so weak in relation to the Euro?

Mainly due to poor trading figures, growing economic problems in US uncertainly attaching to major markets (financial and oil) and political difficulties abroad.

The present policy of low interest rates to counteract possible recession has accentuated the dollar’s weakness.

10. What effect does an increase in the value of the Euro (against the dollar and sterling) have on (i) exports to the US and Britain (ii) imports from the US and Britain.

(i) export prices rise; (ii) import prices fall 

11. What effect would a fall in the Euro (against the dollar and sterling) be likely to have on inflation? 

Likely to lead to increase in inflation (as import prices would rise)

12. If the ECB wished to suppress the rise in the value of the Euro (against other currencies) what measures could it take?

A reduction in interest rates; alternatively an increase in money supply;

Also direct intervention on foreign exchange markets could signal its intentions

